NEW 3 WINDOW POPP-OPENS GAME!



MULTIPLE WINNERS



CASH PAY OUT

Cash Pay Out Shows total prize payout!!

\$250\$250\$250 \$250\$250\$25









WIN GUARD 0\$100\$75\$





2 \$25 \$25 win

YZ00

4000





PAYOUTS ON BACK











The laws that determine the legality of this product change constantly. It is the responsibility of the buyer to determine which products are legal in any given area. Payouts with either a ticket count exceeding 4,000 or a prize payout less than 65% are not available for sale in Pennsylvania or Louisiana. Mississippi max count is 6,000 tickets. Single prize payout maximum is \$500 in LA, \$1000 in MS and \$2,000 in PAVA.

VETERANSTM

	VLILI	ANO	
FORM YZ00 4.000 cards @ \$1.	\$1.00 per card	FORM YZ01	\$1.00 per card
PAYS OUT	MULTIPLE WINNERS	4,000 cards @ \$1.	MULTIPLE WINNERS
6 @\$250.00\$1500.00 2 @\$100.00\$200.00 2 @ \$75.00\$150.00	6 @\$250.00\$1500.00 2 @\$100.00\$200.00 2 @ \$75.00\$150.00	3 @\$300.00\$900.00 3 @\$300.00\$900.00 2 @\$200.00\$400.00	6 @\$300.00\$1800.00 2 @\$200.00\$400.00 2 @ \$60.00\$120.00
2 @ \$100.00\$200.00 2 @ \$75.00\$150.00 2 @ \$50.00\$100.00 2 @ \$25.00\$50.00 200 @ \$5.00\$1000.00	2	4 @ \$50.00\$200.00 10 @ \$10.00\$100.00	2 @ \$50.00\$100.00 2 @ \$20.00\$40.00
200 @ \$5.00\$1000.00	4 @ \$10.00\$40.00 192 @ \$5.00\$960.00	100 @ \$5.00\$500.00	2 @ \$15.00\$30.00 2 @ \$10.00\$20.00 98 @ \$5.00\$490.00
75% payback		75% payback	·
Win Ratio: 1 in 18.7 3 sets per case		Win Ratio: 1 in 32.8 3 sets per case	
14 POSTINGS		14 POSTINGS	
PAYS OUT	\$3,000.00	PAYS OUT	\$3,000.00
IDEAL PROFIT	\$1,000.00	IDEAL PROFIT	\$1,000.00
FORM YZ02 4,000 cards @ \$1.	\$1.00 per card .00\$4,000.00	FORM YZ03 4,000 cards @ \$1.	\$1.00 per card 00\$4,000.00
PAYS OUT 3 @\$599.00\$1797.00	MULTIPLE WINNERS 3 @\$599.00\$1797.00	PAYS OUT 4 @\$500.00\$2000.00	MULTIPLE WINNERS 4 @\$500.00\$2000.00
4 @ \$100.00\$400.00 4 @ \$50.00\$200.00 3 @ \$25.00\$75.00	4	2 @ \$100.00 \$200.00 2 @ \$50.00 \$100.00	2 @ \$100.00 \$200.00 2 @ \$50.00 \$100.00
3 @ \$25.00\$75.00 8 @ \$10.00\$80.00 90 @ \$5.00\$450.00	3 @ \$25.00\$75.00 8 @ \$10.00\$80.00 90 @ \$5.00\$450.00	2 @ \$10.00\$20.00 6 @ \$5.00\$30.00 130 @ \$5.00\$650.00	2 @ \$10.00\$20.00 6 @ \$5.00\$30.00 130 @ \$5.00\$650.00
· · ·			·
75.05% payback		75% payback	
Win Ratio: 1 in 35.7 3 sets per case		Win Ratio: 1 in 27.4 3 sets per case	
14 POSTINGS		8 POSTINGS	
14 FOSTINGS		8 FOSTINGS	
PAYS OUTIDEAL PROFIT	\$3,002.00 \$998.00	PAYS OUT	\$3,000.00 \$1,000.00
FORM YZ04	\$1.00 per card	FORM YZ05	50¢ per card
4,000 cards @ \$1.		4,000 cards @ 50	¢\$2,000.00
PAYS OUT 5 @\$400.00\$2000.00	MULTIPLE WINNERS 5 @\$400.00\$2000.00	PAYS OUT 2 @ \$250.00 \$500.00	MULTIPLE WINNERS 2 @\$250.00\$500.00
2 @\$200.00\$400.00 2 @\$100.00\$200.00 2 @ \$50.00\$100.00	2 @\$200.00\$400.00 2 @\$100.00\$200.00	2 @ \$100.00 \$200.00 3 @ \$50.00 \$150.00	2
2 @ \$50.00\$100.00 4 @ \$25.00\$100.00 100 @ \$2.00\$200.00	2 @ \$50.00 \$100.00 4 @ \$25.00 \$100.00 100 @ \$2.00 \$200.00	10 @ \$10.00\$100.00 10 @ \$3.00\$30.00 420 @ \$1.00\$420.00	10 @ \$3.00\$30.00
			21 @ \$2.00\$42.00 378 @ \$1.00\$378.00
75% payback		70% payback	
Win Ratio: 1 in 34.8 3 sets per case		Win Ratio: 1 in 9.0 3 sets per case	
15 POSTINGS		7 POSTINGS	
PAYS OUTIDEAL PROFIT	\$3,000.00	PAYS OUT IDEAL PROFIT	\$1,400.00
FORM YZ06LS	\$1.00 per card	FORM YZ07	\$1.00 per card
6,320 cards @ \$1.	00\$6,320.00	4,000 cards @ \$1.	00\$4,000.00
PAYS OUT 2 @\$599.00\$1198.00 2 @\$599.00\$1198.00	MULTIPLE WINNERS 2 @ \$599.00\$1198.00	PAYS OUT 6 @ \$250.00\$1500.00	MULTIPLE WINNERS 6 @\$250.00\$1500.00
2 @\$599.00\$1198.00 2 @\$100.00\$200.00 2 @\$100.00\$200.00	2 @\$599.00\$1198.00 2 @\$100.00\$200.00 2 @\$100.00\$200.00	2 @ \$100.00\$200.00 2 @ \$75.00\$150.00 2 @ \$50.00\$100.00	2 @ \$100.00 \$200.00 2 @ \$75.00 \$150.00 2 @ \$50.00 \$100.00 2 @ \$25.00\$50.00
5 @ \$50.00\$250.00 44 @ \$25.00\$1100.00	2 @\$100.00\$200.00 5 @ \$50.00\$250.00 44 @ \$25.00\$1100.00	2 @ \$25.00\$50.00 1000@ \$1.00\$1000.00	4 @ \$2.00\$8.00
1 Last Sale @ \$599.00\$599.00	1 Last Sale @ \$599.00\$599.00		992 @ \$1.00\$992.00
75.08% payback Win Ratio: 1 in 109.0		75% payback Win Ratio: 1 in 3.9	
2 sets per case		3 sets per case	
		14 POSTINGS	
PAYS OUT IDEAL PROFIT	\$4,745.00 \$1,575.00	PAYS OUT IDEAL PROFIT	\$3,000.00 \$1,000.00
FORM YY93	50¢ per card	FORM YZ40	25¢ per card
3,080 cards @ 50	#\$1,540.00	4,000 cards @ 25	#\$1,000.00 MULTIPLE WINNERS
PAYS OUT 8 @ \$100.00 \$800.00 2 @ \$50.00 \$100.00	8 @\$100.00\$800.00	PAYS OUT 2 @ \$150.00\$300.00 2 @ \$50.00\$100.00 2 @ \$20.00\$40.00	2 @ \$150.00 \$300.00
2 @ \$20.00\$40.00 2 @ \$5.00\$10.00	2 @ \$20.00\$40.00 2 @ \$5.00\$10.00	2 @ \$10.00 \$20.00	2 @ \$20.00\$40.00 2 @ \$10.00\$20.00
4 @ \$2.00\$8.00 200 @ \$1.00\$200.00	4 @ \$2.00\$8.00 200 @ \$1.00\$200.00	10 @ \$5.00\$50.00 140 @ \$1.00\$140.00	10 @ \$5.00\$50.00 140 @ \$1.00\$140.00
75.19% payback Win Ratio: 1 in 14.1		65% payback Win Ratio: 1 in 25.3	
4 sets per case		3 sets per case	
12 POSTINGS		6 POSTINGS	
PAYS OUT	\$1,158.00	PAYS OUT	\$650.00
IDEAL PROFIT	\$1,138.00	IDEAL PROFIT	\$350.00
	<u> </u>		

NEW 3 WINDOW POPP-OPENS® GAME!



LEGIONSTM

	LLUIC		
FORM YZ08	\$1.00 per card	FORM YZ09	\$1.00 per card
4,000 cards @ \$1.	MULTIPLE WINNERS	4,000 cards @ \$1.	MULTIPLE WINNERS
6 @\$250.00\$1500.00 2 @\$100.00\$200.00 2 @ \$75.00\$150.00	6 @\$250.00\$1500.00 2 @\$100.00\$200.00 2 @ \$75.00\$150.00	3 @\$300.00\$900.00 3 @\$300.00\$900.00 2 @\$200.00\$400.00	6 @\$300.00\$1800.00 2 @\$200.00\$400.00 2 @ \$60.00\$120.00
2 @ \$50.00\$100.00 2 @ \$25.00\$50.00	2 @ \$50.00\$100.00 2 @ \$25.00\$50.00	4 @ \$50.00\$200.00 10 @ \$10.00\$100.00	2
200 @ \$5.00\$1000.00	4 @ \$10.00\$40.00 192 @ \$5.00\$960.00	100 @ \$5.00\$500.00	2 @ \$15.00\$30.00 2 @ \$10.00\$20.00 98 @ \$5.00\$490.00
75% payback		75% payback	30 😅 \$3.00\$430.00
Win Ratio: 1 in 18.7		Win Ratio: 1 in 32.8	
3 sets per case		3 sets per case	
14 POSTINGS		14 POSTINGS	
PAYS OUTIDEAL PROFIT	\$3,000.00 \$1,000.00	PAYS OUTIDEAL PROFIT	\$3,000.00 \$1,000.00
FORM YZ10	\$1.00 per card	FORM YZ11	\$1.00 per card
4,000 cards @ \$1.	.00\$4,000.00 MULTIPLE WINNERS	4,000 cards @ \$1.	00\$4,000.00 MULTIPLE WINNERS
3 @\$599.00\$1797.00 4 @\$100.00\$400.00	3 @\$599.00\$1797.00 4 @\$100.00\$400.00	4 @\$500 00 \$2000 00	4 @\$500.00\$2000.00
4 @ \$50.00\$200.00 3 @ \$25.00\$75.00	4 @ \$50.00\$200.00 3 @ \$25.00\$75.00 8 @ \$10.00\$80.00	2 @ \$100.00 \$200.00 2 @ \$50.00 \$100.00 2 @ \$10.00 \$20.00 6 @ \$5.00 \$30.00	2 @ \$100.00\$200.00 2 @ \$50.00\$100.00 2 @ \$10.00\$20.00 6 @ \$5.00\$30.00
8 @ \$10.00\$80.00 90 @ \$5.00\$450.00	90 @ \$5.00\$450.00	130 @ \$5.00\$650.00	130 @ \$5.00\$650.00
75.05% payback Win Ratio: 1 in 35.7		75% payback Win Ratio: 1 in 27.4	
3 sets per case		3 sets per case	
14 POSTINGS		8 POSTINGS	
DAYS OUT	\$2,002,00	DAYS OUT	\$2,000,00
PAYS OUTIDEAL PROFIT	\$3,002.00 \$998.00	PAYS OUTIDEAL PROFIT	\$3,000.00 \$1,000.00
FORM YZ12	\$1.00 per card	FORM YZ13	50¢ per card
4,000 cards @ \$1.	.00\$4,000.00 MULTIPLE WINNERS	4,000 cards @ 50	#\$2,000.00
5 @\$400.00\$2000.00	5 @\$400.00\$2000.00	2 @ \$250.00 \$500.00 2 @ \$100.00 \$200.00	2 @ \$250.00 \$500.00 2 @ \$100.00 \$200.00
2 @\$200.00\$400.00 2 @\$100.00\$200.00 2 @\$50.00\$100.00 4 @ \$25.00\$100.00	2 @\$100.00\$200.00	10 @ \$10.00 \$100.00	3 @ \$50.00\$150.00 10 @ \$10.00\$100.00
100 @ \$2.00 \$200.00	2 @ \$50.00 \$100.00 4 @ \$25.00 \$100.00 100 @ \$2.00 \$200.00	10 @ \$3.00\$30.00 420 @ \$1.00\$420.00	10 @ \$3.00\$30.00 21 @ \$2.00\$42.00 378 @ \$1.00\$378.00
			, , , , , , , , , , , , , , , , , , , ,
75% payback Win Ratio: 1 in 34.8		70% payback Win Ratio: 1 in 9.0	
3 sets per case		3 sets per case	
15 POSTINGS		7 POSTINGS	
BAYS OUT	\$3,000,00	DAVE OUT	\$1,400,00
PAYS OUTIDEAL PROFIT	\$3,000.00 \$1,000.00	PAYS OUTIDEAL PROFIT	\$1,400.00 \$600.00
FORM YZ14LS	\$1.00 per card	FORM YZ15	\$1.00 per card
6,32U cards @ \$1.	.00\$6,320.00	4,000 cards @ \$1.	.00\$4,000.00
2 @\$599.00\$1198.00	2 @\$599 nn \$1198 nn	6 @\$250.00\$1500.00 2 @\$100.00\$200.00	6 @\$250.00\$1500.00
2 @\$599.00\$1198.00 2 @\$100.00\$200.00 2 @\$100.00\$200.00 5 @ \$50.00\$250.00	2 @\$599.00\$1198.00 2 @\$100.00\$200.00 2 @\$100.00\$200.00 5 @\$50.00\$250.00	2 @ \$75.00\$150.00 2 @ \$50.00\$100.00 2 @ \$25.00\$50.00	2 @ \$100.00\$200.00 2 @ \$75.00\$150.00 2 @ \$50.00\$100.00 2 @ \$25.00\$50.00
44 @ \$25.00\$1100.00 1 Last Sale @ \$599.00\$599.00	44 @ \$25.00\$1100.00 1 Last Sale @ \$599.00\$599.00	1000@ \$1.00\$1000.00	4 @ \$2.00\$8.00 992 @ \$1.00\$992.00
75 09% nawbask		75% navhack	
75.08% payback Win Ratio: 1 in 109.0		75% payback Win Ratio: 1 in 3.9	
2 sets per case		3 sets per case	
		14 POSTINGS	
PAYS OUTIDEAL PROFIT	\$4,745.00 \$1,575.00	PAYS OUTIDEAL PROFIT	\$3,000.00 \$1,000.00
FORM YY94	50¢ per card	FORM YZ41	25¢ per card
3,080 cards @ 50	¢\$1,540.00	4,000 cards @ 25	¢\$1,000.00
PAYS OUT 8 @ \$100.00 \$800.00	MULTIPLE WINNERS 8 @ \$100.00 \$800.00	PAYS OUT 2 @ \$150.00 \$300.00	MULTIPLE WINNERS 2 @ \$150.00 \$300.00
2 @ \$50.00\$100.00 2 @ \$20.00\$40.00 2 @ \$5.00\$10.00	2 @ \$50.00\$100.00 2 @ \$20.00\$40.00 2 @ \$5.00\$10.00	2 @ \$150.00 \$300.00 2 @ \$50.00 \$100.00 2 @ \$20.00 \$40.00 2 @ \$10.00 \$20.00	2 @ \$50.00\$100.00 2 @ \$20.00\$40.00 2 @ \$10.00\$20.00
4 @ \$2.00\$8.00 200 @ \$1.00\$200.00	4 @ \$2.00\$8.00 200 @ \$1.00\$200.00	10 @ \$5.00\$50.00 140 @ \$1.00\$140.00	2 @ \$20.00\$40.00 2 @ \$10.00\$20.00 10 @ \$5.00\$50.00 140 @ \$1.00\$140.00
75.19% payback Win Ratio: 1 in 14.1		65% payback	
4 sets per case		Win Ratio: 1 in 25.3 3 sets per case	
12 POSTINGS		6 POSTINGS	
			\$650.00

NEW 3 WINDOW POPP-OPENS GAME!



HEROES™

	IILIIULU			
FORM YZ16	\$1.00 per card	FORM YZ17	\$1.00 per card	
PAYS OUT	.00\$4,000.00 MULTIPLE WINNERS	4,000 cards @ \$1.	MULTIPLE WINNERS	
6 @\$250.00\$1500.00 2 @\$100.00\$200.00 2 @\$75.00\$150.00 2 @\$50.00\$100.00	6 @\$250.00\$1500.00 2 @\$100.00\$200.00 2 @ \$75.00\$150.00	3 @\$300.00\$900.00 3 @\$300.00\$900.00 2 @\$200.00\$400.00	6 @\$300.00\$1800.00 2 @\$200.00\$400.00 2 @ \$60.00\$120.00	
2 @ \$25.00\$50.00	2 @ \$50.00\$100.00 2 @ \$25.00\$50.00	4 @ \$50.00\$200.00 10 @ \$10.00\$100.00	2 @ \$50.00\$100.00 2 @ \$20.00\$40.00	
200 @ \$5.00\$1000.00	4 @ \$10.00\$40.00 192 @ \$5.00\$960.00	100 @ \$5.00\$500.00	2 @ \$15.00\$30.00 2 @ \$10.00\$20.00 98 @ \$5.00\$490.00	
75% payback		75% payback		
Win Ratio: 1 in 18.7 3 sets per case		Win Ratio: 1 in 32.8 3 sets per case		
14 POSTINGS		14 POSTINGS		
PAYS OUTIDEAL PROFIT	\$3,000.00 \$1,000.00	PAYS OUTIDEAL PROFIT	\$3,000.00 \$1,000.00	
FORM YZ18	\$1.00 per card	FORM YZ19	\$1.00 per card	
4,000 cards @ \$1.	.00\$4,000.00	4,000 cards @ \$1.	.00\$4,000.00	
PAYS OUT 3 @\$599.00\$1797.00 4 @\$100.00\$400.00	MULTIPLE WINNERS 3 @\$599.00\$1797.00 4 @\$100.00\$400.00	PAYS OUT 4 @\$500.00\$2000.00	MULTIPLE WINNERS 4 @\$500.00\$2000.00	
4 @ \$50.00\$200.00 3 @ \$25.00\$75.00	4 @ \$50.00 \$200.00	4 @\$500.00\$2000.00 2 @\$100.00\$200.00 2 @ \$50.00\$100.00 2 @ \$10.00\$20.00	2 @ \$100.00 \$200.00 2 @ \$50.00 \$100.00 2 @ \$10.00 \$20.00 6 @ \$5.00\$30.00	
8 @ \$10.00\$80.00 90 @ \$5.00\$450.00	3 @ \$25.00\$75.00 8 @ \$10.00\$80.00 90 @ \$5.00\$450.00	2 @ \$10.00\$20.00 6 @ \$5.00\$30.00 130 @ \$5.00\$650.00	2 @ \$10.00\$20.00 6 @ \$5.00\$30.00 130 @ \$5.00\$650.00	
75.05% payback Win Ratio: 1 in 35.7		75% payback Win Ratio: 1 in 27.4		
3 sets per case		3 sets per case		
14 POSTINGS		8 POSTINGS		
DAYS OUT	\$2,002,00	DAYS OUT	\$2,000,00	
PAYS OUTIDEAL PROFIT	\$3,002.00 \$998.00	PAYS OUTIDEAL PROFIT	\$3,000.00 \$1,000.00	
FORM YZ20	\$1.00 per card	FORM YZ21	50¢ per card	
4,UUU cards @ \$1.	.00\$4,000.00	4,000 cards @ 500	#\$2,000.00	
5 @\$400.00\$2000.00 2 @\$200.00\$400.00 2 @\$100.00\$200.00	5 @\$400.00\$2000.00 2 @\$200.00\$400.00 2 @\$100.00\$200.00	2 @ \$250.00 \$500.00 2 @ \$100.00 \$200.00	2 @ \$250.00 \$500.00 2 @ \$100.00 \$200.00	
2 @ \$100.00 \$200.00 2 @ \$50.00 \$100.00 4 @ \$25.00 \$100.00	2 @ \$100.00 \$200.00 2 @ \$50.00 \$100.00 4 @ \$25.00 \$100.00	10 @ \$10.00\$100.00	3 @ \$50.00\$150.00 10 @ \$10.00\$100.00 10 @ \$3.00\$30.00	
100 @ \$2.00\$200.00	100 @ \$2.00\$200.00	10 @ \$3.00\$30.00 420 @ \$1.00\$420.00	10 @ \$3.00\$30.00 21 @ \$2.00\$42.00 378 @ \$1.00\$378.00	
75% payback		70% payback		
Win Ratio: 1 in 34.8		Win Ratio: 1 in 9.0		
3 sets per case		3 sets per case		
15 POSTINGS		7 POSTINGS		
PAYS OUT	\$3,000.00	PAYS OUTIDEAL PROFIT	\$1,400.00	
IDEAL PROFIT	\$1,000.00		\$600.00	
FORM YZ22LS 6.320 cards @ \$1	\$1.00 per card .00\$6,320.00	FORM YZ23 4,000 cards @ \$1.	\$1.00 per card	
PAYS OUT 2 @ \$599.00\$1198.00	MULTIPLE WINNERS 2 @\$599.00\$1198.00	PAYS OUT 6 @ \$250.00\$1500.00	MULTIPLE WINNERS 6 @\$250.00\$1500.00	
2 @\$599.00\$1198.00	2 @\$599.00\$1198.00 2 @\$100.00 \$200.00	2 @ \$100.00 \$200.00 2 @ \$75.00 \$150.00	2 @ \$100.00 \$200.00 2 @ \$75.00 \$150.00	
2 @\$100.00\$200.00 5 @\$50.00\$250.00 44 @\$25.00\$1100.00	2 @\$100.00\$200.00 5 @ \$50.00\$250.00 44 @ \$25.00\$1100.00	2 @ \$50.00\$100.00 2 @ \$25.00\$50.00 1000@ \$1.00\$1000.00	2 @ \$50.00\$100.00 2 @ \$25.00\$50.00 4 @ \$2.00\$8.00	
1 Last Sale @ \$599.00\$599.00	1 Last Sale @ \$599.00\$599.00	1111	992 @ \$1.00\$992.00	
75.08% payback		75% payback		
Win Ratio: 1 in 109.0 2 sets per case		Win Ratio: 1 in 3.9 3 sets per case		
_		14 POSTINGS		
		141 00111110		
PAYS OUTIDEAL PROFIT	\$4,745.00 \$1,575.00	PAYS OUT IDEAL PROFIT	\$3,000.00 \$1,000.00	
FORM YY95	50¢ per card	FORM YZ42	25¢ per card	
3,080 cards @ 50	¢\$1,540.00	4,000 cards @ 25		
PAYS OUT 8 @ \$100.00 \$800.00 2 @ \$50.00 \$100.00	MULTIPLE WINNERS 8 @ \$100.00 \$800.00 2 @ \$50.00 \$100.00	PAYS OUT 2 @ \$150.00\$300.00 2 @ \$50.00\$100.00 2 @ \$20.00\$40.00	MULTIPLE WINNERS 2 @ \$150.00 \$300.00 2 @ \$50.00 \$100.00	
2 @ \$20.00\$40.00 2 @ \$5.00\$10.00	2 @ \$20.00\$40.00 2 @ \$5.00\$10.00	2 @ \$10.00\$20.00	2 @ \$20.00\$40.00 2 @ \$10.00\$20.00	
4 @ \$2.00\$8.00 200 @ \$1.00\$200.00	4 @ \$2.00\$8.00 200 @ \$1.00\$200.00	10 @ \$5.00\$50.00 140 @ \$1.00\$140.00	10 @ \$5.00\$50.00 140 @ \$1.00\$140.00	
75.19% payback Win Ratio: 1 in 14.1		65% payback Win Ratio: 1 in 25.3		
4 sets per case		3 sets per case		
12 POSTINGS		6 POSTINGS		
PAYS OUT	\$1 158 0 0	PAYS OUT		

NEW 3 WINDOW POPP-OPENS® GAME!



PAYOUTS ON BACK

SALUTE OUR SOLDIERS™

	OMEDIE GOII	OOLDILIIO	
FORM YZ24	\$1.00 per card .00\$4,000.00	FORM YZ25	\$1.00 per card .00\$4,000.00
PAYS OUT 6	MULTIPLE WINNERS 6	PAYS OUT 3 @\$300.00 \$900.00 3 @\$300.00 \$900.00 2 @\$200.00 \$400.00 4 @ \$50.00 \$200.00 10 @ \$10.00 \$100.00 100 @ \$5.00 \$500.00	MULTIPLE WINNERS 6 @\$300.00\$1800.00 2 @\$200.00\$400.00 2 @\$60.00\$120.00 2 @\$50.00\$100.00 2 @\$50.00\$30.00 2 @\$15.00\$20.00
75% payback Win Ratio: 1 in 18.7 3 sets per case		75% payback Win Ratio: 1 in 32.8 3 sets per case	98 @ `\$5.00\$490.00
14 POSTINGS		14 POSTINGS	
PAYS OUTIDEAL PROFIT	\$3,000.00 \$1,000.00	PAYS OUT IDEAL PROFIT	\$3,000.00 \$1,000.00
FORM YZ26	\$1.00 per card	FORM YZ27	\$1.00 per card
4,000 cards @ \$1.	.00\$4,000.00 MULTIPLE WINNERS	4,000 cards @ \$1.	00\$4,000.00
3 @\$599.00\$1797.00 4 @\$100.00\$400.00 4 @\$50.00\$200.00 3 @\$25.00\$75.00 8 @\$10.00\$80.00 90 @\$5.00\$450.00	3 @\$599.00\$1797.00 4 @\$100.00\$400.00 4 @\$50.00\$200.00 3 @\$25.00\$75.00 8 @\$10.00\$80.00 90 @\$5.00\$450.00	4 @\$500.00\$2000.00 2 @\$100.00\$200.00 2 @\$50.00\$100.00 2 @\$10.00\$20.00 6 @\$5.00\$30.00 130 @\$5.00\$650.00	4 @\$500.00\$200.00 2 @\$100.00\$200.00 2 @\$50.00\$100.00 2 @\$50.00\$20.00 6 @\$5.00\$30.00 130 @\$5.00\$650.00
75.05% payback Win Ratio: 1 in 35.7 3 sets per case		75% payback Win Ratio: 1 in 27.4 3 sets per case 8 POSTINGS	
PAYS OUTIDEAL PROFIT	\$3,002.00 \$998.00	PAYS OUT IDEAL PROFIT	\$3,000.00 \$1,000.00
FORM YZ28	\$1.00 per card	FORM YZ29	50¢ per card
PAYS OUT 5 @\$400.00\$2000.00 2 @\$200.00\$400.00 2 @\$50.00\$100.00 4 @ \$25.00\$100.00 100 @ \$2.00\$200.00	MULTIPLE WINNERS 5 @\$400.00\$400.00 2 @\$200.00\$400.00 2 @\$500.00\$400.00 2 @\$50.00\$100.00 4 @ \$25.00\$100.00 100 @ \$2.00\$200.00	4,000 cards @ 50 PAYS OUT 2 @ \$250.00 \$500.00 2 @ \$100.00 \$200.00 3 @ \$50.00 \$150.00 10 @ \$10.00 \$10.00 10 @ \$3.00 \$30.00 420 @ \$1.00 \$420.00	MULTIPLE WINNERS 2 @ \$250.00 \$500.00 2 @ \$100.00 \$150.00 10 @ \$10.00 \$100.00 10 @ \$3.00 \$30.00 21 @ \$2.00 \$42.00 378 @ \$1.00 \$378.00
75% payback Win Ratio: 1 in 34.8 3 sets per case		70% payback Win Ratio: 1 in 9.0 3 sets per case	
15 POSTINGS		7 POSTINGS	
PAYS OUTIDEAL PROFIT	\$3,000.00 \$1,000.00	PAYS OUTIDEAL PROFIT	\$1,400.00 \$600.00
FORM YZ30LS 6.320 cards @ \$1	\$1.00 per card .00\$6,320.00	FORM YZ31 4,000 cards @ \$1.	\$1.00 per card) 00
PAYS OUT 2 @\$599.00\$1198.00 2 @\$599.00\$1198.00 2 @\$100.00\$200.00 2 @\$100.00\$200.00 5 @\$50.00\$250.00 44 @ \$25.00\$1100.00 1 Last Sale @\$599.00\$599.00	MULTIPLE WINNERS 2 @\$599.00\$1198.00 2 @\$599.00\$1198.00 2 @\$100.00\$200.00 2 @\$100.00\$200.00 5 @\$50.00\$250.00 44 @\$25.00\$1100.00 1 Last Sale @\$599.00\$599.00	PAYS OUT 6 @\$250.00\$1500.00 2 @\$100.00\$200.00 2 @\$75.00\$150.00 2 @\$50.00\$100.00 2 @\$55.00\$50.00 1000@\$1.00\$1000.00	MULTIPLE WINNERS 6 @\$250.00\$1500.00 2 @\$100.00\$200.00 2 @\$75.00\$150.00 2 @\$50.00\$100.00 4 @\$2.00\$8.00 992 @\$1.00\$992.00
75.08% payback Win Ratio: 1 in 109.0 2 sets per case		75% payback Win Ratio: 1 in 3.9 3 sets per case	
PAYS OUTIDEAL PROFIT	\$4,745.00	PAYS OUTIDEAL PROFIT	\$3,000.00 \$1,000.00
FORM YY96	\$1,575.00 50¢ per card	FORM YZ43	25¢ per card
3,080 cards @ 50	¢\$1,540.00	4,000 cards @ 25	¢\$1,000.00
PAYS OUT 8 @\$100.00 \$800.00 2 @\$50.00 \$100.00 2 @\$20.00 \$40.00 2 @\$5.00 \$40.00 4 @\$2.00 \$8.00 200 @\$1.00 \$200.00	MULTIPLE WINNERS 8 @\$100.00 \$800.00 2 @\$50.00 \$100.00 2 @\$20.00 \$40.00 2 @\$5.00 \$10.00 4 @\$2.00 \$8.00 200 @\$1.00 \$200.00	PAYS OUT 2 @ \$150.00 \$300.00 2 @ \$50.00 \$100.00 2 @ \$20.00 \$40.00 2 @ \$10.00 \$20.00 10 @ \$5.00 \$50.00 140 @ \$1.00 \$140.00	MULTIPLE WINNERS 2 @ \$150.00 \$300.00 2 @ \$50.00 \$100.00 2 @ \$20.00 \$40.00 2 @ \$10.00 \$20.00 10 @ \$5.00 \$50.00 140 @ \$1.00 \$140.00
75.19% payback Win Ratio: 1 in 14.1 4 sets per case		65% payback Win Ratio: 1 in 25.3 3 sets per case	
12 POSTINGS		6 POSTINGS	
DAVE OUT		DAVE OUT	* 650 00

NEW 3 WINDOW POPP-OPENS GAME!



The laws that determine the legality of this product change constantly. It is the responsibility of the buyer to determine which products are legal in any given area. Payouts with either a ticket count exceeding 4,000 or a prize payout less than 65% are not available for sale in Pennsylvania or Louisiana. Mississippi max count is 6,000 tickets. Single prize payout maximum is \$500 in LA, \$1000 in MS and \$2,000 in PA/VA.

LET FREEDOM RING™

LLI I IILLDUM IIIMU			
FORM YZ32	\$1.00 per card	FORM YZ33	\$1.00 per card
4,000 cards @ \$1.	.00\$4,000.00 MULTIPLE WINNERS	4,000 cards @ \$1.	.00\$4,000.00 MULTIPLE WINNERS
6 @\$250.00\$1500.00 2 @\$100.00\$200.00 2 @\$75.00.\$150.00	6 @\$250.00\$1500.00 2 @\$100.00\$200.00 2 @ \$75.00\$150.00	3 @\$300.00\$900.00 3 @\$300.00\$900.00 2 @\$200.00\$400.00	6 @\$300.00\$1800.00 2 @\$200.00\$400.00 2 @ \$60.00 \$120.00
2 @ \$100.00 \$200.00 2 @ \$75.00 \$150.00 2 @ \$50.00 \$100.00 2 @ \$25.00 \$50.00	2 @ \$100.00 \$200.00 2 @ \$75.00 \$150.00 2 @ \$50.00 \$100.00 2 @ \$25.00\$50.00	2 @\$200.00\$400.00 4 @ \$50.00\$200.00 10 @ \$10.00\$100.00	2 @ \$200.00 \$400.00 2 @ \$60.00 \$120.00 2 @ \$50.00 \$100.00 2 @ \$20.00 \$40.00 2 @ \$15.00 \$30.00 2 @ \$10.00 \$20.00
200 @ \$5.00\$1000.00	4 @ \$10.00\$40.00 192 @ \$5.00\$960.00	100 @ \$5.00\$500.00	
750/		750/	98 @ \$5.00\$490.00
75% payback Win Ratio: 1 in 18.7		75% payback Win Ratio: 1 in 32.8	
3 sets per case		3 sets per case	
14 POSTINGS		14 POSTINGS	
DAYS OUT	\$2,000,00	DAYS OUT	*2.000.00
PAYS OUTIDEAL PROFIT	\$3,000.00 \$1,000.00	PAYS OUT IDEAL PROFIT	\$3,000.00 \$1,000.00
FORM YZ34	\$1.00 per card	FORM YZ35	\$1.00 per card
4,000 cards @ \$1.	.00\$4,000.00	4,000 cards @ \$1.	. ,
PAYS OUT 3 @ \$599.00 \$1797.00	MULTIPLE WINNERS 3 @\$599.00\$1797.00	PAYS OUT 4 @ \$500.00\$2000.00	MULTIPLE WINNERS 4 @\$500.00\$2000.00
4 @ \$100.00\$400.00 4 @ \$50.00\$200.00 3 @ \$25.00\$75.00	4 @ \$100.00 \$400.00 4 @ \$50.00 \$200.00 3 @ \$25.00 \$75.00	4	2 @ \$100.00 \$200.00 2 @ \$50.00 \$100.00 2 @ \$10.00 \$20.00
3 @ \$25.00\$75.00 8 @ \$10.00\$80.00 90 @ \$5.00\$450.00	3 @ \$25.00\$75.00 8 @ \$10.00\$80.00 90 @ \$5.00\$450.00	2 @ \$10.00\$20.00 6 @ \$5.00\$30.00 130 @ \$5.00\$650.00	2 @ \$10.00\$20.00 6 @ \$5.00\$30.00 130 @ \$5.00\$650.00
75.05% payback		75% payback	
Win Ratio: 1 in 35.7 3 sets per case		Win Ratio: 1 in 27.4 3 sets per case	
		3 sets per case	
14 POSTINGS		8 POSTINGS	
PAYS OUT	\$3,002.00	PAYS OUT	\$3,000.00
IDEAL PROFIT	\$998.00	IDEAL PROFIT	\$1,000.00
FORM YZ36	\$1.00 per card	FORM YZ37	50¢ per card
4,000 cards @ \$1.	.00\$4,000.00	4,000 cards @ 50	#\$2,000.00
5 @\$400 00 \$2000 00	5 @\$400 00 \$2000 00	2 @\$250.00\$500.00 2 @\$100.00\$200.00	2 @\$250.00\$500.00 2 @\$100.00\$200.00
2 @ \$100.00 \$200.00	2 @ \$100.00 \$200.00	3 @ \$50.00 \$150.00 10 @ \$10.00 \$100.00	3 @ \$50.00\$150.00 10 @ \$10.00\$100.00
2 @ \$50.00 \$100.00 4 @ \$25.00 \$100.00 100 @ \$2.00 \$200.00	2 @ \$50.00 \$100.00 4 @ \$25.00 \$100.00 100 @ \$2.00 \$200.00	10 @ \$3.00\$30.00 420 @ \$1.00\$420.00	10 @ \$3.00\$30.00 21 @ \$2.00\$42.00 378 @ \$1.00\$378.00
			378 @ \$1.00\$378.00
75% payback		70% payback	
Win Ratio: 1 in 34.8 3 sets per case		Win Ratio: 1 in 9.0 3 sets per case	
15 POSTINGS		7 POSTINGS	
PAYS OUT	\$3,000.00	PAYS OUT	\$1,400.00
IDEAL PROFIT	\$1,000.00	IDEAL PROFIT	\$600.00
FORM YZ38LS	\$1.00 per card .00\$6,320.00	FORM YZ39 4,000 cards @ \$1.	\$1.00 per card .00\$4,000.00
PAYS OUT	MULTIPLE WINNERS	PAYS OUT	MULTIPLE WINNERS
2 @\$599.00\$1198.00 2 @\$599.00\$1198.00 2 @\$100.00\$200.00	2 @\$599.00\$1198.00 2 @\$599.00\$1198.00 2 @\$100.00\$200.00 2 @\$100.00\$200.00	6 @\$250.00\$1500.00 2 @\$100.00\$200.00 2 @ \$75.00\$150.00	6 @ \$250.00\$1500.00 2 @ \$100.00\$200.00 2 @ \$75.00\$150.00
2 @ \$100.00 \$200.00 2 @ \$100.00 \$200.00 5 @ \$50.00 \$250.00	2 @ \$100.00 \$200.00 2 @ \$100.00 \$200.00 5 @ \$50.00 \$250.00	2 @ \$50.00\$100.00 2 @ \$25.00\$50.00	2 @ \$75.00\$150.00 2 @ \$50.00\$100.00 2 @ \$25.00\$50.00
44 @ \$25.00\$1100.00 1 Last Sale @ \$599.00\$599.00	44 @ \$25.00\$1100.00 1 Last Sale @ \$599.00\$599.00	1000@ \$1.00\$1000.00	4 @ \$2.00\$8.00 992 @ \$1.00\$992.00
75 000/		750/	
75.08% payback Win Ratio: 1 in 109.0		75% payback Win Ratio: 1 in 3.9	
2 sets per case		3 sets per case	
		14 POSTINGS	
PAYS OUTIDEAL PROFIT	\$4,745.00 \$1,575.00	PAYS OUT IDEAL PROFIT	\$3,000.00 \$1,000.00
FORM YY97	50¢ per card	FORM YZ44	25¢ per card
3,080 cards @ 50	¢\$1,540.00	4,000 cards @ 25	¢\$1,000.00
PAYS OUT 8 @ \$100.00 \$800.00	MULTIPLE WINNERS 8 @ \$100.00 \$800.00	PAYS OUT 2 @ \$150.00 \$300.00	MULTIPLE WINNERS 2 @ \$150.00 \$300.00
2 @ \$50.00\$100.00 2 @ \$20.00\$40.00 2 @ \$5.00\$10.00	2 @ \$50.00\$100.00 2 @ \$20.00\$40.00 2 @ \$5.00\$10.00	2 @ \$150.00 \$300.00 2 @ \$50.00 \$100.00 2 @ \$20.00 \$40.00 2 @ \$10.00 \$20.00	2 @ \$50.00\$100.00 2 @ \$20.00\$40.00 2 @ \$10.00\$20.00
4 @ \$2.00\$8.00 200 @ \$1.00\$200.00	2 @ \$5.00\$10.00 4 @ \$2.00\$8.00 200 @ \$1.00\$200.00	10 @ \$5.00\$50.00 140 @ \$1.00\$140.00	10 @ \$5.00\$20.00 140 @ \$5.00\$140.00
75.19% payback		65% payback	
Win Ratio: 1 in 14.1 4 sets per case		Win Ratio: 1 in 25.3 3 sets per case	
12 POSTINGS		6 POSTINGS	
PAYS OUT	\$1 158 0 0	PAYS OUT	\$650.00